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1. In economics, the problem of scarcity is best stated as:
a. We cannot make anything we need.
b. We cannot afford to purchase certain goods at current market price.
c. We should decide to buy one thing over another.

d. We have limited quantities, while our desires to be unlimited.

2. Economics is a way of thinking that:
a. Encourages people to make hung profits on their business.
b. Suggests that individuals and societies save more to be rich and
prosperous.
c. Helps individuals and societies make decisions consistent with
improved well-being.

d. Leads individuals to minimize costs involved in decision making.

3. The law of increasing opportunity costs suggest that the production
possibilities frontier for any economy will:
a. Be convex with respect to the origin.
b. Be concave with respect to the origin.
c. Be liner.

d. Be circle-shaped with respect to the origin.

4. Which of the following is a factor that contributes to trade?
a. Specialization in activities with low opportunity costs.
b. Differing resource endowments for individuals and nations.
c. Comparative advantage.
d. All of the above.



5. The opportunity cost of saving is:

a.

b
C.
d

The market interest rate.

. The transaction cost of withdrawing money from the bank.

The satisfaction foregone by consuming less now.

The expected inflation rates in the future.

6. The terms of the trade are

a.

b
C.
d

The opportunity cost of producing alternative goods.

The ratio at which two goods are traded for one another.

The current interest rate ratio.

The ratio of the price level of foreign countries to the domestic price
level.

7. Which of the following may limit the potential gains achieved from

specialization and trade.

a.

b
C.
d

Transaction cost.

. The law of demand.

The principle of absolute advantage.

Scarcity of resource.

8. Advertising would usually:

a.

b
C.
d

Shift the market demand curve to the right.
Shift the market demand curve to the left.

Reduce the market demand.

. Have no effect on the market demand.

9. The good’s price measures:

a.

b
C.
d

The marginal benefit of the last unit of the good purchased.
The marginal benefit of the first unit of the good purchased.
The marginal cost of the last unit of the good purchased.

The marginal utility of the first unit of the good purchased.

10. A stable system of property rights often leads to an economically efficient

use of resources because:

a.

b.

People are generally more greedy.
People are willing to innovate and invest or even to work harder than
necessary.

People always make a profit from the use of their property.



1.

12.

13.

14.

15.

d.

People can avoid paying tax.

Education is:

a.
b
C.
d. All of the above.

A pure public good whose exclusion costs are zero.

. A pure public good characterized by high exclusion costs.

Characterized by low exclusion costs and is a public good.

The more narrowly a commodity is defined;

a.

b
C.
d

The greater is its price elasticity of demand.
The smaller is its price elasticity of demand.
The more inelastic the demand is.

The less inelastic the demand is.

When MC (marginal cost) = MR (marginal revenue) = ATC (average total

cost), in a purely competitive firm, then:

a.

b
C.
d

Firms in the industry are incurring losses.

. Firms in the industry are in long-run equilibrium.

MC is minimized.

Output is maximized.

In 1980 GDP was $5000. In 1990, GDP was $7500. If 1980 is taken as the
base year, what value of the implicit price deflator in 1990 would imply that
real GDP was unchanged between 1980 and 1990?

a.

b
C.
d

67.
100.
150.

. 200.

In cross country comparisons, per capita GDP should not be used to make

precise judgments about living standards because:

a.

Per capita GDP cannot reflect many of the differences in living
conditions between countries.

Different countries include different items in GDP.

Many items such as home production are not often included in GDP, yet
such items make up a large percent of output in less developed
countries.

All of the above.



16. If the flow of investment and exports into the economy is less than the flow

of savings and imports out of the economy, and the government budget is

balanced, we can conclude that:

a.

b
C.
d

Excess aggregate demand will occur.
The flow of expenditures will increase.
GDP will increase.

GDP will decline.

17. The unemployment rate rises during:

a.

Recessions.

b. Wars.
c.
d. All of the above.

Inflations.

18. The real wage:

a.

b
C.
d

Equals the marginal product of labor.

. Equals labor productivity.

Equals the normal wage less inflation.

. Equals the normal wage plus inflation.

19. Money market mutual funds are:

a.

Accounts at commercial banks that pay market rates of interest and
allow limited checking privileges.

Organizations that pool the savings of a large number of savers and use
them to purchase short term assets.

The largest component of M2.

Short term Treasury securities that have limited checking privileges.

20. Open market sales:

a.

b
C.
d

Increase commercial bank reserves.

. Decrease commercial bank reserves.

Reduce interest rates.

. Non of the above.

21. Labor contracts may cause output persistence by:

a.
b.

Preventing prices from adjusting.

Causing aggregate demand to change.



c. Not allowing normal wages to adjust.
d. Changing the natural rate of output.

22. A capital gain:
Results when an asset is sold for less than its purchase price.
Results when an nonmonetary asset is exchanged for money.

Results when an asset is sold for more than its purchase price.

e o o P

Cannot be earned is real assets such as land.

23. When the price index equals the expected price index:
The economy produces at its natural level.

The labor market is in long-run equilibrium.

The labor market is in short-run equilibrium.

All of the above.

e o o P

24. If the required reserve ratio were zero, banks would:
a. Hold no reserves.
b. Make excessive profits.
c. Lend 100% of all reserves.
d. None of he above.

25. Household saving depends on:
a. Business investments.
b. Foreign saving.
c. The real interest rate.
d. All of the above.

SR EEEE:I50%

I EE 1B RFAREETE PG oL P EE R
5 #1 TIZ(Cause Theory) [ it % $4i& I 4L g 72 (15%)
2. 3% SONY 2 AIWA & 3.2 @ CD % & F s i i v 2 47 f <8 (payoff

matrix)4c ™ %

SONY
[N x% B x%
ATWA |4 (0,0) (100,50)
B (-100,200)  |(50,200)

(F# D LA IR ; AIWA shpayoff ; 1238 5 SONY = payoff)
S T



(1) @3 E% K% 3547(dominant strategy equilibrium) ? #38# £ % 7
R R HE? FA 0 BiE5 R 2 (5%)

(2) ®3) Nash32§=? #4827 4 F 5 & Nash 2§ ? o H g~ 2 @ ?
(5%)

BTl Rd Y 1 A A1 pEd B 48 EFE ML 44 o d
BEEEA RDEKT > BN L ELTV R HED 2 /) HJIF 4 R
(Phillips curve) 2 2 258 7 385 § - R R FA W5 R 225 B4 17 imh
F 2 o (15%)
R E AT
i} F Sk C=200+0.75(Y-T)
WE a0 S =-200+0.25(Y-T)
Fidc ddic 0 T=100+0.2Y
FTREL A G =400
PF S# =200
die t X =100
vt M=25+0.1Y
W BT AR AL
(1) FAsager18(Y)2 F#k@E o (5%)
(2) R A g E AF I Y=2000 » RISRIEIE S G ik o 2 B B G
i ?(5%)



